

# BENCHMARK EDUCATION COMPANY

145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 62996

### **Contact representative**

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

Customer: Ship To:

OLDHAM CO SCHOOL DISTRICT 6165 W HIGHWAY CRESTWOOD KY 40014

United States

OLDHAM CO SCHOOL DISTRICT 6165 W HIGHWAY CRESTWOOD KY 40014

Product Code	Title	Price Level	Unit Price	Qty	Total Price
XY11858	BEC Benchmark Advance 2022 (National Edition) Gr. K Classroom 25-Copy Print and Digital 3-Year	Current	\$4,500.00	8	\$36,000.00
Discount (Custom)	Gratis 1 Set.				(\$4,500.00)
XY11859	BEC Benchmark Advance 2022 (National Edition) Gr. 1 Classroom 25-Copy Print and Digital 3-Year	Current	\$4,500.00	8	\$36,000.00
Y63129	BEC Benchmark Advance 2022 (National Edition) Gr. 1 My Reading and Writing Units 1-10 5-Copy Consumables 3-Year	Current	\$330.00	3	\$990.00
Discount (100%)	Gratis 3 Sets.				(\$990.00)
XY11860	BEC Benchmark Advance 2022 (National Edition) Gr. 2 Classroom 25-Copy Print and Digital 3-Year	Current	\$5,160.00	8	\$41,280.00
XY11861	BEC Benchmark Advance 2022 (National Edition) Gr. 3 Classroom 25-Copy Print and Digital 3-Year	Current	\$5,160.00	9	\$46,440.00
Discount (Custom)	Gratis 1 Set.				(\$5,160.00)
XY11862	BEC Benchmark Advance 2022 (National Edition) Gr. 4 Classroom 25-Copy Print and Digital 3-Year	Current	\$5,160.00	8	\$41,280.00
Discount (Custom)	Gratis 2 Sets				(\$10,320.00)
Y65050	BEC Benchmark Advance 2022 (National Edition) Gr. 4 Text for Close Reading 10 Volumes 5-Copy Consumables 3-Year	Current	\$330.00	2	\$660.00
Discount (50%)	Gratis 1 Set.				(\$330.00)
XY11863	BEC Benchmark Advance 2022 (National Edition) Gr. 5 Classroom 25-Copy Print and Digital 3-Year	Current	\$5,160.00	8	\$41,280.00

Page: 1 of 4	Customer #: B00394631	Quote: 62996	
Quote Date: 5/14/2024	E01771 Curtis Coleman		



\$250,860.00

# BENCHMARK EDUCATION COMPANY

145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 62996

(\$24,765.00)

### **Contact representative**

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com
Office Phone:

Phone: 317-514-6515

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Y65051	BEC Benchmark Advance 2022 (National Edition) Gr. 5 Text for Close Reading 10 Volumes 5-Copy Consumables 3-Year	Current	\$330.00	3	\$990.00
Discount (100%)	Gratis 3 Sets.				(\$990.00)
Y64455	BEC Benchmark Advance 2022 (National Edition) Gr. K Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
Y64456	BEC Benchmark Advance 2022 (National Edition) Gr. 1 Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
Discount (50%)	Gratis 1 Set.				(\$495.00)
Y64457	BEC Benchmark Advance 2022 (National Edition) Gr. 2 Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
Discount (100%)	Gratis 2 Sets.				(\$990.00)
Y64458	BEC Benchmark Advance 2022 (National Edition) Gr. 3 Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
Discount (100%)	Gratis 2 Sets.				(\$990.00)
Y64459	BEC Benchmark Advance 2022 (National Edition) Gr. 4 Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
Y64460	BEC Benchmark Advance 2022 (National Edition) Gr. 5 Teacher Resources System 5-Volume Set Print		\$495.00	2	\$990.00
PR991	PD-Free Implementation (Gratis)	On-Site	\$0.00	5	\$0.00
Subtotal	Discount Total	Sales Tax	Shipping Cost		Total

Memo	
* One-Time Offer of Gratis Sets. 5% S/H	

\$0.00

\$11,304.75

\$237,399.75 USD

Page: 2 of 4	Customer #: B00394631	Quote: 62996	
Quote Date: 5/14/2024	E01771 Curtis Coleman		



## BENCHMARK EDUCATION COMPANY

145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 62996

#### **Contact representative**

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

- \* The above pricing cannot be combined with any other offers.
- \* Price firm for 45 days from quote date. Price quote must be attached to school purchase orders to receive the quoted price.
- \* All digital subscriptions will end on July 31st the last year of the term purchased.
- \* Any changes, including cancellations to the originally agreed upon PD trainings, must be made at least 10 business days prior to the delivery of the PD trainings. Customized PD changes must be submitted at least 15 business days prior to agreed delivery date and must go through the customized request process. Benchmark Education will do its best to accommodate the requested changes; however, it reserves the right to render services according to the initial agreement. Please note that any changes requested may incur an additional charge or reduction of number of PD training days rendered. Please note that no changes can be requested on site and all requests must go through the Company approval process.

Page: 3 of 4	Customer #: B00394631	Quote: 62996
Quote Date: 5/14/2024	E01771 Curtis Coleman	



## BENCHMARK EDUCATION COMPANY

145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 62996

### **Contact representative**

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

PLEASE INCLUDE TH	IIS PROPOSAL WITH YOUR PURCHASE (	ORDER ALONG WITH THE FOLLOWING INFORMATION
Billing Contact Name		
Billing Contact Email		
Billing Contact Phone		
PLEASE INCLUDE TH	IE FOLLOWING INFORMATION FOR ALL	DIGITAL SUBSCRIPTIONS
Name of School(s) The Attach separate documents	nat Will Use the Subscription(s) nent if necessary	
Onboarding Tech Cor	ntact Name	
Onboarding Tech Cor	ntact E-Mail	
• REQUIRED		
SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suite B  G Email: neworders@benchmarkeducation. Phone: 877-236-2465  Fax: 877-732-8273	com

#### Terms of Service

\* By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (Please visit this site: https://help.benchmarkuniverse.com/bubateacher/Content/Customer%20Support/Privacy%20Policy.htm?Highlight=privacy). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.

Page: 4 of 4	Customer #: B00394631	Quote: 62996	
Quote Date: 5/14/2024	E01771 Curtis Coleman		